et obj
Choose a, b, ¢, or d which best completes each items.

46-The heat capacity of a substance is defined as the quantity of heat required ..... the
temperature of the substance 1°C.
1) to retort 2) to raise 3) to relapse 4) to rave

47-A liquid has ..... and takes up the shape of its container.
1)a higher density than a solid 2)a boiling point of 100 -C
3)a lower specific gravity than gas 4)a definite volume

48-The volume of gases can be measured by ....

1) a burette 2) a graduated cylinder

3) a measuring tube 4) a beaker

49-In centrifuging, ...... particles can be separated more easily than the other processes.
1)the fine 2) the coarser 3)the heavy 4)the spherical
50-Ventilated hoods are required in all laboratory rooms handling chemicals of any type, in
order ....... vapors and gases and to provide a safe place.

1)to inhibit the inhalating 2)to control the pressure of

3)to remove toxic and flammable 4)to measure the amount of

51-Chlorine is a powerful oxidizing agent, and its function in water..... is to kill bacteria.
1)sedimentation 2)purification 3)precipitation 4)centrifugation

52-All of the methods of chromatography make use of a stationary phase and .....phase.

1)a volatile 2)a stable 3)a steady 4)a mobile
53-The principle of solvent extraction process is the difference in .... , in a given solvent, of
the various components of the mixtures to be separated.
1)mixing 2)settling 3)volatility 4)solubility
54-Because of ...... surface water needs more disinfection than under-ground water.
1)the higher amount of dissolved oxygen 2)absorbing sunlight
3)an increase of hardness 4)the presence of viruses
55- In reverse osmosis process, ....... water passes through the membrane.
1) saline 2) brine 3) pure 4) raw
Y5 (o
Qw‘rk\s.\iﬁaﬁa-a}J)Jﬁ‘wfa;-dfup-u—b;‘
P B R PPN .;ﬁ@%&g—;;@\)A(\
5,8 oslizul 35,8 ol 51olg o Cl clale i L (F R P T e P BT PR ST (

Cs dal g T 5 0T ke 3 ¥ Slas 8 sl bl HY 512l 4 55 -0V
Bacro, 'y K =1/2x10"
HCro; &\, K, =4x10
3x107 (¥ 3/8x108 (1



2/4x10° (¢ 1/2x10% ¢

] o5 oKl &K 5[V e p b ] (85 53 dond &S5 51 (glns 08T 055 4 (614 503 JolST O gol 25 53 ~OA
?w‘(‘ﬁﬁ}}JM‘M)J.J};‘SAJW N Mosgufemle [y u“}"‘(’J’L’

Av (F 5o (v Fo(Y Yo Q)

Qﬁdy‘}é\wjbubb)&%ﬁw '/\Maﬁ}&f:}%'/\MﬁM%){ a'mlﬁ)):m‘f:;)b—a*

CUST 038" gy &2 79 70 o,
0/007: (¢ 0/66x10° (v 0/7x10° (v 2/54x10° (\

§ il 0S5 gmn Jale IS ey 43 OV (ST ol 31 5 0 sl 25 55—

0OX,+Red, &> Red, +0X,
OX, (f ox, Red, (v Red, (A

Sl 13,55 1 650 S 519 3 5 3)0se ) €Sl 535 S (sleiny 5 =9
by Jomdley b 3 2SJ1 (Y Cab 0L s b 55 SN
ok J 587 (635 2SI Jomiliy L 5 2831 (F V035 g S b ol sles 5o 5 S

Dlowile oS jos b
A(F Yy f (¥ o0

25 gl plas s 5,8 plil Ag" +2CN ™~ = Ag(CN); +e losis S 28Ty ;)T)Msuiﬁms-w

Sl
Pi|Ag(CN),,CN~(aM) (¥ Pi|Ag" (aM),CN ™ (aM)
Ag|4g(CN)3.(al),CN~ (aM) (f Ag|4g”* (2aM),CN~(aM) (v

S ot J b b glome Ol 51 558 g it (il /Pl faile Y e J5b b Jslows &0 ol 855550 50 -7F
VAa\s AR\ 1o (¥ AnS!

8 on o1 sl )y 5m ey adl ey g s Sl e 51 eSCalaST 50

rﬁf‘géw‘yo’ LQ\OPJK%JY(\
S5 e 535,80 s (s s Y (F S Y (P

Sl 4l e i s & S il YO /dAY S5 i 6 oy S1-97
Lo OF (F ORI X\ Voo f (Y FORVAQ



¢l 6,85 EC [l 31L OT 3 05081 SIS -V
13 Ko o> 4y Loz (¥ b e Ll (O

Al o rals(F AT ol (G i (V

NS 9 I (LGS aw § (ot beod ( G 38 SO S
15 0=2000015/day o,50L Il ool & (5l —FA

S 3,5 5 535 S =150mg BOD

300013 (¢ 1200m°3 (v 75003 (¥ 850013 (1

rLu.a\iTLsnbf}év\ibzbbcuwb)bg‘SLg}AT)jlf&f‘jj‘)b—f“\
el 9 JS(F SSLgal b IS (Y op ol (Y A Sl ()

03,8 o S pe Sl a5k 4 DT aslpa V-
55 5 O gl ST (F ok sCO, 58 Lods (F

U e e /) a8 by e Olas 153 8L e s o708 L syl T 3 0 i & Sl 3 Sly3 STV
SUS oo bstw g0 4

Co o Oloa (F G pl BV (3 S pl 95 (Y PR WA Q)

€33 8 o oslimal 35,050 31 EKaldS s (g1 ol SlalojT ¢ T aideas b LLo I s -VY
STl Iy o Sl 36 ()
oS Winis 05le 1 i cwlin (F S5 m s o B e JT slge luda (P

CaMg (f MgCO3 (v Mg(OH)2 (Y MgSO4 q
Tl 1S OO adai T 5 IS 55 ond 5 -VF
03,08 (23152 (F o olza b o (F &) S o (¥ $ilsn O

Conrs e sl ) K a0 ol 0t (5,5 0310 20 55 0 8 AadOr il Ye7C s (D56 BOD-Vo

194/23’"1—g (f 219/5’"Tg ¥ 252/1’"1—g (¥ 116/4&1%



Pl 25V O3S T S ROV 35 3 55 a1 25 4 (S gT 035,55 05 a5l 4 0 pemlST31 5 AT 3 55 V8
ol 55 Slg kS o 4 0501 0 8 LS VD (Sl S5 kS VWD puli 0315 ol & 0508 Ui
LS oo ool 1y (S 5aT 05525 p 8 oS i OS 125 (51 55 5530 O3S 355 03058 el

Yo. (f Yoo (v VFo (Y #6 (A

ST 03 OLaj amilir 1555 o0 O3 s I3dimes o A0 T Sl pa ¥ s 8 Bl 60 o San (5 5325 (51 =WV
u},z@ugu;\a.u.ﬂ,sq@ﬂﬁm mﬁgﬁlﬁjub”auﬁuuryw;ﬁéw
€258 3505 (Blo 4 bl OT CaSe e iz Zola a3 L st 5k 0

Y5Y (F YOV/O (* YOO (Y YVO/6 ()

§ ol ey JS Slinie S oIS o358 Ol VA
HOCI (¢ OCI™ (v HCI (¥ NHoCI (y

Sl &S tn WaeSClor 5 Lo 518 plas 5 S plas” V4

Slas lis 55 (F L;‘M;L&.ﬁbﬁj(&(“ 058y s (Y sl g ()

Nl § T (699199 5C0 § (o
§ G 28 o (513 (play 930 la ) 3 58 55 e A

J%MJJ@KS‘A&J?}(Y )Q)PHJ?)(\
Pl (F Lon 55 01y Sn 3 g5 (1

§ S allid pslgn (05 5> Ja5 9, 3925 —A)
o e 03 b (Y o2 o 03530 (O
¢S (F bl DS 53 g s 5 (¥

SLab oo (soshite a4 ST )3 o955 8 sla (s STL il —AY
Sl 55 (2 S0 ) Oljos 5 8 585 s (¥ Do 5485 G 5 S 4 5L e b 5 5 s ()
3y5m 4w (F S 5 O3 53 ol el OT (g Sin kS J ST (F

Tosiior o A 5o S ko i ST s 4G s il ST ST el AY
SO e (F YUY NG /0 (Y Y el ()

€ st Ol JolS 225 & 55 D] ol Lo 56 51 s oS A
sl s, o glez,B (Y Sy st O
sl ady slex,6 (F Lg‘«:ﬁ-lié_gidl.@g-)\é(\‘



§ o osleT 035 Sz 0L (MPN) Jlaz 25l 5T 55 -A0

558N dame 53 58 a5 (Y Sy e 0,8 Oyt e 3 D558 ()

o) BODg Wl sdeT Cws Y2 C L;u;p,:;ﬁp_f_;?aw ¢S oIl 59, Y Sl e SDWSB BOD -A?
(k=027 0 =135 e 2 550 8 o iy YO7C s 5L

BOD8 = 363/5(f BOD8 =346/18 (v BOD8 =247 (v BOD8 =24% ()

45510 w3 0lej b5 Yr 0 Ol ys s PH=VA L T 058 28lig sl oY IS ke -AV
E=8200al , R, =1/9%al/mol."K Gt p S e o 2 VSl i

o/ (f i X\s o5 (Y eesd ()

'CJ_;'C"_““’“\T‘”)J:TS)"(’J?;;L:‘\Y“4{0")"\;5“}3&4-&?",2)\5"f]” )-’(.Qj:fl{t}-;dg;{’}..—/\/\
Sl jir S e S 3 0kd S5 Loyl 8 S (6 SL ol (Specific growth rate) o5 5 s,

ey 9oV (F a3 FA (¥ S Y (Y cele ys oV (N

= OT CsUs il Sl S e o i 36,8 YYD Golus T 4 gad &S5 L5 —AQ
2 >y 2 FC S e > 2 e O ok

o/0 (F Froe (¥ Y/YO (Y AING

Sl 9 T (575/5099 450 9 (o 0L Lo 5T
95,8 3 23T 3550 m pr il 8503 5535050 51 EKaldST p3 -4

4:14.:m|c)}5}léc‘}i§c&)|j>4?).>(\’ COzcub_cPHcC))‘f%):(\

Aly s (D uST (LB (e (F e 5 0Ol s PH (¥

TUoL sl i b 6l 4 sa5 b 0 5a3T oIS plail 5 (6515 5 4 503 (512 -9

bt 5L 3y 90 O5STT (F S s (F Je (¥ L5k ()

ol oIS 55,V SV 5b Sy ol LCOD O}ﬂjTC\QJ\%Léjlbjdﬂr@ygwudﬂg;ﬁbox&—ﬂY
o Doslrn 53 SIS 5 ¥ 5 a8 4 PH 0l 5 855 ) g il 035331 O

2 Dslme 53 615 VY Sl ri  PH 0wl 55 g 035581 (¥

397 5w 55w LA 51 i PH 5 0l s Sl 6Ky 50 8 F 055580 (*

P S =y Y0 éw,so;ﬁw}@ﬂmw’gu(f

T g oo D pan (65 shake 43 4 0 gl (sl plone -4
s ¢SO PH zalS" (¥ J e ¢SS PH 5L 3100



o) sloen &5 i (F PH s ol i 51 6,8 gl (8

a;o\ﬁ,u;\dngéu&_i;\wﬂéuh 13 6 mSe e (Blo V0 sty plaSAF

oo (F o (Y o (Y S0

03,18 56 (NTU) @508 (5le5T )3 s ole plas™ -0
52 Slgl 3 s (F Sk 03 s S ()

Sl S 8 Ol (F Ko ilas,l (¥

j':zjgj-l:“\.')Jf;wQ)WOTW‘CM‘°Mg}:)\;J::JJJ Q‘y‘}é\&v/v&)y‘bﬁﬂcﬂ]ﬂl&—Q9
(Mg= Y¥/¥) Sl jis

Y/A(F VAR(Y YYD (Y YA QO

Sl 1) 55 Jge iz OT 05 g,0es O Ol 3L Y/VO TPH Sy

YV (F WARS (y Y/V (Y /Y (

?:_,&@(Red water) ;s 5 T sbul Ciw s o sl s s g S C\.\f—ﬂ/\

sl ey (F 355 555 5 (¥ oSN (Y 5355 ()

0 i Sl 25 05,8 Lsl 13 0,8 g IS gy LSS (Y i ol Sl 0z 31 03Lizanl()
o520k 03 AS 03,5 SLAIL p s sl Sl g gy JSCas(F EC 6wl oslizal (v

Tl IS S o o5 SSY il 1 558 Lo 87 (5 ST
25 P kel SV (Y o kel SO
09093 fon &S g 5 JS ¥ S S S el Y



	gozainesh_mosahebeh_www.baroot.com.pdf
	1.pdf
	www.e-soal.ir(nemune soal banki).pdf
	icdl(1).pdf
	نمونه سوالات فناوری اطلاعات و کامپیوتر.pdf
	1-computer275.pdf







